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“C) melanin




 The classical dance
~ A) Kuchipudi

C) eighth census afier independence

 The first Indian Govertior of Reserve Bank of Indi

D) F!ower Day
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D) Bengal Gazette
Wluch he following: languages was ‘also .-1_tcéh:tlyfg1_ve1_1:ft_'he 3

\guage of Indi

ded the Gandhi Peace Prize 20132
B) Chandi Prasad Bhatt

The followingthree letters / numerals sequences

way. Find out the numcrals that replace the qu




a, Sunita, Nidhi, Aparna and Preeti and five me

n two sides of a table

sat in the cent
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Complete the matrix

i) Some axes are blades -

"A) None fol!ows
'_) 0"']y'u) foliows

 namasiia

B) _nly 1) follows




Which of the answer fi gs-"ﬁt_s'.,togr@p}ace.t:h.e.iZQuestiqr_xl_maik_ﬁ(‘-_’.)._.il._l_ problem Figures
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fast train takes 3 hr
o__f-_jhé.éloiﬁ train is 10 Km/br ;le__sg:t_haﬂ that of fast trai
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and B can cultivate_ of the field

. B)'A orksheet
D) Unreadable
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jump to another slide in

i m_an__nex_f. :

- _groups that arc stored 'locall)’ on YO"" compute

'D)'All ofthe above




100. A software named Google Chrome is an example of : -

- A) Antlwrus R B) Webs:te ) ng_'_Bréwser ‘D) Firewall
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